@ @ Q% %%f; %‘ Phép trir s6 thap phan (2 chir so)

Tén: Ngay thang: piém: ____
1.34 8.77 6.35 /.33 5.14
-8.85 -3.59 -2.28 -9.99 -7.42
4.43 5.91 1.35 6.87 3.66
-5.23 -9.33 -2.12 -3.03 -7.67
4.58 3.67 5.65 7.98 4.55
-8.39 -5.46 -2.09 -8.19 -8.42
6.54 7.01 9.08 4.86 9.18
-7.17 —-8.88 -6.47 -6.67/ -3.34
3.51 8.39 3.23 4.27 6.43
-6.33 -5.8 -4.74 -2.17 -4.77
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Phép trir s6 thap phan (2 chir so)

Tén:

1.34
—8.85
-7/, 51

4.43
—-5.23
-0, 8

4.58
-38.39
-3, 81

6.54
/.17
-0, 63

3.51
—-6.33
—2,82

netH®

8.77
—3.59
5,18

5.91
—-9.33
-3, 42

8.67
—5.46
3,21

7.01
—8.88
-1, 87

8.39
—5.8
2,59
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Ngay thang:

7.33
-9.99
-2, 66

6.87
—3.03
3,84

7.98
-3.19
-0, 21

4.86
—-6.67/
-1, 81

4.27
—-2.17
2,1

Piém:

5.14
—-7.42
—-2,28

3.66
—/.67
-4, 071

4.55
—-8.42
-3, 87

9.18
—3.34
5, 84

6.43
-4.77
1,66
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